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39-“Canl try .............. these shoes, please” ? “ certainly”
1)in 2) on
3) of 4) at

40 - Thisvaccum cleaner consumes a lot of electricity.
“consume’ means..............

1) produce 2) reduce
3) use 4) lose
41-You can ... the water you spilt on the table
with this piece of cloth.
1) disturb 2) absorb
3) report 4) support
42 - “Can you solve thismath problem”? “No, | can’t.
It'S e difficult for meto solve
1) enough 2) too
3) much 4) such
43 - My friend read that fescinating story, and ...............
1) neither did | 2) nordo |
3) | did too 4)sodol
44 - Hisparents................. him well, but they didn’t

1) should train 2) could train

3) had to train 4) should have trained
45 - “Excuse me, please. I’'m looking for main street”.
“Drivealong ford road until you cometoa.................

1) junction 2) injection

3) conjunction 4) rejection
46 - Do you know the.................. of living in big cities?
It’snot asfreeasliving in villages

1) migration 2) protection

3) occupation 4) limitation
47 - “Livingin acivilized society requires certain types
of behavior”. weunder stan from the a bove sentence that
1) If you want to live in a civilized society, you should
type your letters.
2) al types of behavior are acceptable in acivilized
society
3) you have to be have properly when you livein a
civilized society
4) when you require to behave freely, livein acivilized
society
48 - “ Although he lookslike an ignorant person heis
very clever”. the above sentence meansthat ...............
1) Heis aclever person, howerer, he ignores some things
2) He looks like an ignores person, because heis very
clever
3) Helikesto ignore people so heis very clever
4) He likes to look at an ignorant person although heis
every clever
49 - | wish .o living on other planets some day
1) to experience 2) experienced

3) experiencing 4) experience
50 - The stonebridge.....ccccceevenne by the Iranian
architectsin I sfahan

1) has designed 2) was designed

3) had designed 4) designed
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